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Olivier Blanchard, David Johnson, Macroeconomics.

Chapter 11, Pages 212-213, Questions 1, 3, 4, 5.

i ployment trade-off tern ranty
e Befon: the 1970s, there was . no naturzl rate of unem-
ployment and policy makers could achieve as low a
rate of unemployment as they wanted. "
The' expectanons—aug;mented Phillips curve Is consis-
tent:with workers and firtiis adapting thelr expecta-
tlons following the macméconomjc experience of the

h.igh, inflation is low and vice versa. Therefore, we may
experlence either high inflation or high unemploy-
ment, but we will never experience bath together.

. Aslong as we do not mind having high inflation, we can
achieve as low a leve! of unemployment as we want. All
we have to dois increase the demand for goods and ser-
vices by using, for example, expansionary fiscal policy.
#.8. Mutations of the Phillips curve

£%  Suppase thar the Phillips curve is given by

m=nrf+ 01— 2u,

" where
I nf=8m,,

Also, suppose that 8 Is initially equal i zero.

a. What !s the natural rate of unemployment?

Suppose that the rate of unemployment is initially
equal to the natural rale. In year ¢ the authorities declde to
bring the unemployment rate down to 3% and hold It there
Jorever

- b, Determine the rate of inflation inyears £, £+ 1, £+ 2,
1+5.

c. Do you believe the answer given in {b)? Why or why
not? (Hinr: Think about how people are likely to form
expectations of inflation.)

Now suppose that in year t + 58 increases from 0 to 1.
Suppose that the government Is still determined to keep u
at 3% forever.

d. Why might 8increase In this way?

e. What will the inflation ratebemyears [+51+6,1+ 77

f. Doyou believe the answer given in (e}?Why or why not?

4. Oll shocks, inflation, and unemployment

Suppose that the Phillips curve is given by

7~ xf=008+0.1y —2u,

where y Is the markup of prices gver wages.

Suppose that u is initlally equal ro 20%, bur thatas a
result of a sharp increase in oll prices, p increases 10 40% in
year tand after.

a. Why would an increase in oil prices result in an
increase in p?

b. What Is the effect of the increase in z on the natural
rate of unemployment? Explain in words.

Dig Deeper
5. The macreeconomic effects of the indexation of wages
Suppose that the Phillips curve is given by

x— rf=01-2u,
where
=Ry

Suppose inflation in year t — 1 Is zero. In year i, the
authorities decide to keep the unemployment rate at 4%
forever.

a. Compute the rate of Inflation for years 2, £+ 1, £+ 2,

and £+ 3.

Now suppose that half the workers have indexed iabor
contracts.

b. What {5 the new equation for the Phillips curve?
¢ Answer (a) again.
d. What i5 the effect of wage Indexation on the relation

between rand u?

6. The price of ofl has substantially declined in the 1990s.
a Can this help explain the evidence on inflation and
unemployment in the 1930, presented in this chapter?
b. What has been the likely effect on the natural rate of
unemployment?

Explore Further
7. Estimating the natural rate of unemployment

To answer this question, you will need data on the
annual U.S. unemployment and inflation rates since, 1970,
which can be obtained from the Web site of the Bureau of
Labor Statistics: stats.bls.govidata/

Select the “most requested series.” Under “Employment
and Uniemploymen,” plck “Labor force statistics from the
Current Population Survey” and make an extract of the
“Unemployment Rate—Civlitan Labor Force.” This isa
monthly serles, so use the year's average for that year's
unemplayment rate.

Similarly, under the “most requested series,” look under
“Prices and Living Condltions" and make an extract of the
“Consumer Price Index—All Urban Consumers.” Define the
inflation rate in year ¢ as the percentage change in the CPf
between year t and year ! — 1. Once you have computed the
rate of inflation for each year, compute also the change in
the inflation rate from one year to the next.




Part 2:

Chapter 12, Questions 1, 2, 3, 4, and 6.

7- Suppose that the Phillips curve is given by: m=m +K —2 u,
where K is a constant and that =My

Suppose that initially unemployment is equal to the natural rate and m= 12%. The authorities decide in year t
that 12% inflation is too high and that they will maintain unemployment rate 1 percentage point above the
natural rate of unemployment until the inflation rate des to 2%.

a)- Solve for the natural rate of unemployment as a function of the constant K. What is the sacrifice ratio? How
does the sacrifice ratio depend on the natural rate of unemployment?

b)- Compute the rate of inflation for years t and t+ 1. (Hint: Express the Phillips curve as a function of the
difference between the current unemployment rate and the natural rate of unemployment.)

c)-For how many years must the authorities keep the unemployment rate above the natural rate of
unemployment? Is the implied sacrifice ratio consistent with your answer to (a)?

Now suppose that people know that the authorities to lower inflation to 2% but they are not sure of the

authorities willingness to accept an unemployment rate above the natural rate of unemployment. So, their

expectation of inflation is a weighted average of the target of 2% and the last year’s inflation, that is:
Tftez b 2% + (l-b) TCt-1

where b is the weight they put on the government's target of 2%.

d)- Let b = 0.25. How long will it take before the inflation rate is no higher than 2%? What is the
sacrifice ratio now?

e)- Suppose that after the government's policy has been in effect for one year, people believe the authorities
completely. So, they now set their expectations according to: 7" = 2%
From what year onward can the authorities let the unemployment rate return to the natural rate?

f)- What advice would you give to a policy maker interested in lowering the rate of inflation by increasing the
rate of unemployment as little and for as short a time period as possible?



